k pages.

Important Note : 1. On completing your answers, compulsorily draw diagonal cross lines on the remaining blan

50, will be treated as malpractice.

2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8

USN

Find the moment-of force about A and

A

21C1V14/24

(08 Marks)
(06 Marks)

(06 Marks)

(08 Marks)
(06 Marks)

(06 Marks)

(06 Marks)

(06 Marks)

¢. Two identical roléféﬁ each weighing 200 N are placed in a trough as shown in Fig.Q3(c).

Assuming all contaet surfaces are gt
A,B,Cand D, "

Fig.Q3(c)

1of4

oth, find the reactions developed at contact surfaces

(08 Marks)
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OR

4 a. State and prove Varignon’s theorem. (06 Marks)

b. Determine the magnitude and direction of forde. ‘P> which keeps concurrent system in
equilibrium. [Refer Fig.Q4(b)] ‘

(06 Marks)

c. Determine the ang

Fig.Q4(c).

(08 Marks)

(08 Marks)

Fig.QS(b) (12 Marks)

2 of4
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OR

6 a. Determine the centroid of a triangle of base ‘B’ (08 Marks)

b. Find the moment of inertia and radius of gyration of a prestressed concrete beam section
shown in Fig.Q6(b) about horizontal and ve ical axis passing through the centroid.

(12 Marks)

(06 Marks)

Fig.Q7(c) (07 Marks)
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OR
8 a. Listthe steps followed in the analysis of trusses by met

of joints. (06 Marks)

b. Determine the reactions at A and B for the loadéd heam as shown in Fig.Q8(b).

(07 Marks)

¢. Find forces in membe

truss shown in FngS(é‘)usmg method of joints and tabulate
member forces. <

P

(07 Marks)
9 a tel
(iii) Vertical height  (iv) Time of flight
' (10 Marks)
b.

(10 Marks)

10 a (04 Marks)

(04 Marks)

»»»»»

¢. A cricket ball thrown by a plﬁyer from a height of 2 m above the horizontal ground at an
angle of 30° to the horizoftal and with a velocity of 12 m/s. The ball hits the wicket at a
height of 0.6 m above the ground. How far is the player from the wicket? (12 Marks)

* %k ok k¥
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